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Directions: Identify the underlined word or phrase that must be changed in order for the sentence to be
correct. If the sentence is correct, select choice (4).

1- Stochastic models are used to modeling processes whose outcomes are governed by a probabilistic

1 2 3
mechanism. NO ERROR
4
2- All too often, narrow questions were studied with increasingly restricted methods, leading, at best, to
1 2
mini-theories which failed in sustaining interest in the issues. NO ERROR
3 4

3- Mass production is the manufacture of machineries and other articles in standard sizes and large
1 2

numbers. NO ERROR
3 4

Vocabulary

Directions: Choose the best choice!

4- Before you to the next question, you should take some time to make sure you’re happy
with your answers so far.
1) prescribe 2) precede 3) resolve 4) proceed
5- The inaccessible transportation the development of the local business.
1) intervened 2) distinguished 3) hampered 4) refuted
Quotation:

There is only one boss: the customer. And he can fire everybody in the company from the
chairman on down, simply by spending his money somewhere else. Sam Walton




